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Even if it rains, I shall come means

I will
certainly
come
whether it
rains or not

a) I am less b) If it rains, I c) I will d) Whenever C
likely to shall not certainly there is rain, I
come if it come come shall come
rains whether it
rains or not
In the following question, a sentence has been given in Active/Passive The
voice. Out of the four alternatives given below, select the one which newspaper is
best expresses the same sentence in Passive/Active voice: read by
Grandfather reads the newspaper every day. grandfather
every day.
a) The b) The ¢) The d)The b
newspaper is newspaper is newspaper newspaper
being read by read by was read by was being
grandfather grandfather grandfather read by
every day. every day. every day. grandfather
every day.
The first and the last sentence of the passage is numbered 1 and 6. The CADB
rest of the passage is split into four parts and named A, B, C, D. These
four parts are not arranged in proper order. Find out which one out of
four combinations will make the correct sentence.
1. Today political freedom
A. and the right
B. however money and all that money
C. assures people equality before law
D. to elect their Government
6. can buy is not fairly distributed.
a) CADB | b) ABCD | c) CBDA | d) BDCA a
Ineversaw sucha ................ sight. dreadful
a) deadly | b) dread | ¢) deadening | d) dreadful d
Change the given sentence into indirect speech: She said that
She said, “She is happy now”. she was
happy then
a) She told she b) She said that | ¢) She said that | d) She said to b
is happy now. she was she is happy her that she
happy then. now. was happy
then.
Who is the newly elected Prime Minister of Canada? Mark
Carney
a. Mark Carney | b. Justin c. Pierre d. Stephen a
Trudeau Poilievre Harper




7 Who was the Chairman for the High Level Committee on One Nation, Ram Nath
One Election constituted on 02nd September 2023 by the Kovind
government of India?

a) Amit Saha b) Ghulam Nabi | c)Arjun Ram d)Ram Nath d
Azad Meghwal Kovind
8 When was the Indus Water Treaty Signed? 19th
September
1960
a) 22nd b. 19th c) 15t July d) 07t June b
December September 1948 1976
1961 1960

9 Which franchise/team does Vaibhav Suryavanshi represent in IPL Rajasthan
2025 who set the record of being the youngest player scoring 101 Royals
runs in 38 balls

a) Gujrat Titans | b) Kolkata ¢) Rajasthan d) Kings XI c
Knight Royals Punjab
Riders

10 | Which NASA astronaut was also was stuck in the space for about nine | Barry

months since June 2024 along with Sunita Williams? Wilmore
a) Nick Hague | b) Alexsandr c) Warren d) Barry
Gorbunov Hoburg Wilmore d

11 What is the name of the Artificial Intelligence (AI) anchors launched by Krish and

Doordarshan on its DD Kisan channel? Bhoomi
a) Kaveri and b) Ganga and ¢)Vikas and d) Krish and (d)
Saryu Vriksh Fasal Bhoomi

12 The first geothermal production well in Northeast India has been drilled Dirang

recently at

a) Ukhrul | b) Dirang | ¢) Umyam | d) Ziro (b)

13 Chose the right code for True/False statement: A-T, B-T
C-F

A. The Indian Space Research (ISRO) plans to establish a space station by D-F
2035 and land an Indian on the Moon by 2040.

B. India won the ICC Men’s T20 world Cup 2024.

C. Novak Djokovic won the 2025 Austrian Open men’s single title.

D. Manchester City failed to qualify for the 2025 UEFA Champions
League knockout stages.

a) A-F, B-F,C- | b) A-T,B-T,C- |c) A-T,B-F, C- | d)A-T, B-F, C-F, | (b)
T, D-T F, D-F T, D-F D-T

14 Given below are two statements, one labeled as Assertion (A) and the Both A and
other labeled as Justification (B). Identify the correct answer: B are true,

and B is the
A: Assertion : India’s space program has gained increased global correct

recognition in recent years.




B: Justification : the successful Chandrayan -3 mission in 2023
demonstrated India’s capability to land on the Moon’s south pole.

explanation
of A.

a)BothAand B | b)BothAand B | c) Aistrue, but | d) Ais false but | (a)
are true, and are true, but B is false. B true.
B is the B is not
correct correct
explanation explanation
of A. of B.
15 The WHO second Global Conference on Air Pollution and Health 2025 Cartagena,
washeldin___ Colombia
a) Geneva, b) Cartagena, ¢) Parish, France | d) New Delhi (b)
Switzerland Colombia India
16 | What will come in place of the blank space? 28
1,10,19, __
a) 28 b) 29 c) 30 d) 39 (a)
17 A clock gains 15 minutes per day. It is set right at 12 noon, what time will | 4:10 am
it show at 4:00 am, the next day?
a) 4:15 am | b) 4:10 am | ¢) 4:30 am | d)5:15 am (b)
18 Find out the missing alphabet in the sequence B
D’ P’ C’ Q?_? R? A
a)R |b)S [0 E | d)B (d)
19 If ‘TOP’ is coded as ‘UPQ’, then the code of ‘RAT’ will be SBU
a) TAR | b) ART | ¢) SBU | d) UBS (c)
20 | Takar’s house is just opposite to Hillang’s house. Takar goes straight South
towards north and reaches Hillang’s house. If Hillang has to go Takar’s
house, then in which direction should Hillang go?
a) South | b) North | ¢) East | d) West (a)
21 In which country the concept of Ombudsmen first originated?
Sweden

a) Sweden b) Finland ¢) Denmark d) Norway




22 | Match the following books according to the authors.
A. Why Nations Fails 1. James Ferguson
B. Development As Freedom | 2. Amartya Sen A-4,B-2,C-
C. The Anti-Politics Machine | 3. Deborah Stone 1,D-3
D. Policy Paradox 4. Daron Acemoglu and
James Robinson
a) A-2,B-3,C- |b) A-4,B-2,C- |c)A-4, B-3,C- | d) A4, B-2, b
4,D-1 1,D-3 2, D-1 C-3 D-1
23 Which among the followings are correct propagations on public policy?
a. Thomas R. Dye says that "public policy is manifestation of what
government chooses to do or not to do".
b. Noam Chomsky: ‘There is a tremendous gap between public opinion
and public policy’ Band C
c. Woodrow Wilson: ‘Public Administration is detailed and systematic
execution of law’.
d. Pfiffner: Public administration is a cooperative group effort in public
setting
a) Aand B b) B and D ¢)Cand D d)Band C d
24 | Given below are two statements on the power of the Prime Minister of
India. One is labeled as assertion and the other one as Both A and
reason/justification. B are true
A: Assertion: The Prime Minister of India holds paramount executive and B is the
powers as per constitution of India. correct
B: Justification: Prime Minister of India is the Head of the executive. justification
In the light of the above statements choose the appropriate answers from | for A.
the options given below.
a) Aistruebut | b)Bistrue but |c)Both AandB | d) Both A andB
B is false A is false are true and are true but B
B is the is not the c
correct correct
justification justification
for A. of A.
25 Which of the following statements are correct in respect of redistributive
public policy?
a. It relies on progressive taxation.
b. It specifies on social safety nets. aandb
c¢. Social security programmes.
d. It aims to minimize inequalities and enhance social and economic
welfares.
a)aandb b)aandc c¢)dand b d)bandc a




26

Match the following pairs in context of the propositions on public policy.

A. Public Policy and Politics In | Abhijit Banerjee, Gita A-,B-, C-,
India Gopinath, Raghuram Rajan, D-
Mihir S Sharma
B. Essence of Decision Graham T Allison AB CD
C. What the Economy Needs Kuldeep Mathur 321 4
D. Governing the Commons Elinor Ostrom
a) A-1,B-2,C- | b) A2-,B3-,C- |c)A-4,B-3,C- |d) A-3,B-2,C-
3,D-4 1, D-4 1, D-2 1, D-4 d
27 Which of the following is the digital India initiative?
a. Digi Locker
b. MyGov.in A and B
¢. My mail.com
d. Deen Dayal Upadhyaya Swavalambam Yojana
a) A and B b) Cand B c)Dand B d) Aand C a
28 Below are two statements labeled as Assertion and Reason on e-
governance. Select the answers from the following codes. Both A and
A: Assertion: E-governance is the application of ICT to transform the B zrleggoirg °t
efficiency, effectiveness, transparency, and accountability of chgrrec tl s the
government operations. statement of
B: Reason: It aims to improve the service delivery, enhance citizen’s A
engagement, and increase government accountability. ’
In the light of the above statements choose the appropriate answers from
the options given below.
a) B is not the b) Both A and B | ¢c) Both A and B | d) A is not the
correct are correct are correct correct
statement of but B is not and B is the statement of | c
A. the correct correct B.
statement of statement of
A. A.
29 Which among the following is one of the key initiatives taken up by Electronic
government of India under digital India initiatives? Transaction
Aggregation
& Analysis
Layer (e-
TAAL)
a) Integrated b) Electronic ¢) Uber d) Airbnb
Digital Transaction
Experience Aggregation b
Act (IDEA) & Analysis
Layer (e-
TAAL)




30 | Below are two statements labeled as Assertion and Reason on public
policy. Both A and
A: Assertion: Public policies are formulated and implemented in order to | B are correct
mitigate pubic problems built on the idea of social welfare. and B is the
B: Reason: Public policies are goal oriented and built on public welfare correct
measures. explanation
In the light of the above statements choose the appropriate answers from of A.
the options given below.
a) A is not the b) Both A and B | ¢) B is not the d) Both A and B
correct are correct correct are correct
explanation and B is not explanation and B is the d
of B. the correct of A. correct
explanation explanation
of A. of A.
31 Among the followings which system is the oldest considering redressal of
citizen’s grievances?
Ombudsmen
a) Lokayukta b) Lok Adalat c¢) Lokpal d) Ombudsmen | g
32 Legislature of USA is called Congress
a) Parliament b) Congress ¢) Diet d) Federal (b)
Assembly
33 State Council is the executive organ of _____ China
a) UK | b) China | ¢) Switzerland | d) USA (b)
34 Chose the right code for True/False statement: A-F
B-F
A. Comparative politics focus on countries only. C-F
B. Comparative politics focus on regions only. D-T
C. Comparative politics focus on constitution only.
D. All the above are false.
a) A-T, B-T, b) A-F, B-F, c) A-T,B-T,C- |d) A-T,B-T,C- | (b)
C-F, D-T C-F, D-T F, D-F T, D-F
35 Given below are two statements, one labeled as Assertion (A) and the Both A and
other labeled as Justification (B). Identify the correct answer: B are true,
and B is the
A: Assertion: A written constitution is more effective at protecting correct
fundamental rights than unwritten constitutions. explanation
of A.
B: Justification: A written constitution explicitly codifies fundamental
rights, providing a clear legal basis for judicial enforcement.
a)BothAand B | b) BothAand B | c) Aistrue, but | d) Ais false but | (a)
are true, and are true, but B is false. B true.
B is the B is not
correct correct




explanation
of A.

explanation
of B.

36 Match the following and chose the correct option: A—ii
B-
A. House of Common of UK | i. Strongest Upper House v
B. House of Representative of | ii. Strongest lower House C-i
USA. D -
C. Senate of USA. iii. Largest unicameral iii
legislature
D. National People’s Congress | iv. Weakest lower House
of China
a) A-i, B-ii, C- | b) A-ii, B-i,C- | c) A-ii, B-iv, d) A-iii, B-ii, C- | (c)
iii, D-iv iv, D-iii C-i, D-iii i, D-v
37 Which is/are the sources of law for UK? All of these
a)Common law | b) Statute law | c)Equity | d) All of these | (d)
38 Chose the right code for True/False statement: A-F
B-T
C-F
A. USA Constitution was written on 1776. D-T
B. The constitution is supreme law of the land.
C. Only the President can declare war under the USA constitution.
D The USA constitution can be amended.
a) A-E, B-F, C- | b) A-F, B-T,C- |c)A-F B-E C-F, | d) A-F, B-F, C-F, | (b)
F, D-T F, D-T D-T D-T
39 How many members constitute the Federal Council of Switzerland? 7
a)7 |b)6 [0)8 [ d)5 (a)
40 | Match the following and chose the correct option: A-iii
B-i
C-iv
A. Executive power is shared among a i. USA D-ii
multi member council.
B. President is both Head of State and ii. UK
Government.
C. Procuratorate is judicial supervisory | iii. Switzerland
organ.
D Speaker has power of kangaroo iv China
closure.
a) A-i, B-ii, C- b) A-ii, B-i, C- | ¢) A-iv, B-i, C- | d) A-iii, B-i, C- | (d)
iii, D-iv iv, D-ii iii, D-ii iv, D-ii
41 What is the maximum term of the UK Parliament? 5 years
a) 3 years | b) 4 years | c) 5 years | d) 6 years (©)




42 The Hunger Project (THP) was founded in 1977 with the goal to End world
hunger in 25
years.

a) End world b) Provide c) End world d) Ensure two
hunger in 25 foodgrains to famine in 50 square meals
years. the needy years. for the
people. children a
between 6 and
14 years of
age.
43 Which of the following is NOT a greenhouse gas? Oxygen
a) Ozone | b) Oxygen | c) Methane | d) Nitrous Oxide b
44 Which of the following statements(s) is/are TRUE/FALSE about global justice's
goal(s)?
(i) advocates for a more just and equitable world order. A-T B-F C-
(ii)ensures justice only for national communities. ! !
. . . . . . T,D-T
(>ii1) Addresses issues like poverty, human rights violations, environmental
degradation, etc.
@iv) Advocates for global gender justice.
a) A-T,B-F,CT, |b) A-F, B-F,CF, |b) AT B-FC |d)ATBTC |
D-T D-T F, D-T T,D-T
45 Assertion (A): The Universal Declaration of Human Rights protects the Both (A) and
human rights of individuals globally. (R) are true,
Reason (R): The Declaration has 30 articles. and (R) is not
the correct
explanation
of (A).
a) (A) is false, but | b) (A) is true, but | c) Both (A) and d) Both (A) and
(R) is true. (R) is false. (R) are true, (R) are true,
and (R) is the and (R) is not
correct the correct d
explanation of explanation of
(A). (A).

46 Match the following:

A. Montreal Protocol (i) to limit global warming to well below 2
degrees Celsius.

B. Paris Agreement (ii) to protect the Earth's ozone layer by A-ii, B-i, C-
phasing out the use of substances that iv, D-iii
deplete it.

C. Kyoto protocol (iii) to reduce greenhouse gas emissions
to combat climate change.

D. Vienna Convention (iv) Protection of the Ozone Layer

a) A-i, B-ii, C-iii, b) A-iii, B-ii, C-i, | c) A-ii,B-i, C-iv, | d) A-iv, B-iii, C-
D-iv D-iv D-iii i, D-i C




47

Which of the following is NOT connected to the protection of human rights

United
Nations
Conference
on
Environment
and
Development

a) The b) c)United Nations | d)Universal
International The Conventio Conference on Declaration of
Covenant on n on the Environment Human Rights
Civil and Elimination of and
Political All Forms of Development. «
Rights. Discrimination
Against
Women.
48 In which year was the Rio Earth Summit held? 1992
a) 1900 | b) 1992 | ) 1995 | d) 2022 b
49 The Dandi March of Mahatma Gandhi was associated with_____ Salt law
a) Congress b) Press Law c) Salt Law d) Communal
Manifesto Award ¢
50 The objective of the Simon Commission wasto____ Understand
the
constitutional
system in
India and
suggest
changes.
a) Discuss with b) Manage civil c) Ensure financial | d) Understand
Mahatma administration accountability the
Gandhi on in India constitutional d
India’s system in India
Independence and suggest
changes.
51 Brahma Samaj was established on ____ 20t August
1828
a) 20" August b) 20th July ¢) 20th d) 20th October
1828 1828 September 1828 (a)
1828
52 Who was the leader of Young Bengal movement? Henry Louis
Vivian
Derozio
a) Henry Louis b) Jyoti Basu ¢) Subhas d) Chittaranjan
Vivian Chandra Boss Das (a)
Derozio
53 Rama Krishna Mission organization was established on ___ 1% May
1897
a) 2" May 1897 | b) 1" May 1897 | c) 2" June 1897 | d) 1" June 1897 | b




54 | Which of the following countries is NOT a founder member of NAM?
Pakistan
a) Pakistan. | b) Yugoslavia | c) Indonesia. | d) India. a
55 The theory of ‘Basic Structure’ of the Constitution was propounded by the | Kesavanand
Supreme Court in a Bharati
case
a) Kesavananda | b) Golaknath ¢) Shankari d) Minerva mill
Bharati case case Prasad Vs. case
Union of a
India case
56 | Who was the author of HINDUTVA ? Vinayak
Damodar
Savarkar
a) Atal Bihari b) Vinayak ¢) Lal Krishna d) Lala Laj Pat
Vajpayee Damodar Advani Rai b
Savarkar
57 Biological Humanism was propagated by M.N. Roy
a) M.N.Roy b) Ram ¢) Lal Bahadur | d) B.R.
Manohar Shastri Ambedkar (a)
Lohia
58 Jayaprakash Narayan is popularly known for his Total
Revolution
Movement
a) Total b) As socialist ¢)As afreedom |d) all
Revolution Leader fighter (a)
Movement
59 | Who is authorized to decide over the dispute of disqualification of a _
member of Parliament? President
a) Election b) Speaker of ¢) President d) A Committee
Commission Lok Sabha setup by the |c
of India Parliament
60 In which Constitutional Amendment Act the number of Lok Sabha seat 31
increased from 525 to 5457 Constitution
al
Amendment
Act
a) 42th b) 31% c) 44t d) 22nd
Constitutiona Constitutiona Constitutiona Constitutiona b
I Amendment I Amendment 1 Amendment 1 Amendment
Act Act Act Act
61 Which of the following statement/statements about Article 78 is true
1. It deals with the emergency powers of the President of India.
2. The Prime Minister’s duty regarding keeping the President informed 2

about the government’s decisions, policies and actions
. The President’s power to send advisory messages to the Parliament

98]

4. President’s Power to appoint Attorney- General for India.




a) 1 and 2 | b)3 and 4 (02 [ d) 4 c
62 Two statements are labelled as Assertion (A) and justification (B) are
given. Read both the statements carefully and select the correct answer.

A: Preventive Detention means that if the Government feels that a person | (A) is true
can be a threat to law and order or to the peace and security of the but (B) is
nation, it can detain or arrest that person. false

B: Bill of rights is an effective tool in the hands of Government to deal
with anti-social elements or subversives.

a) Both (A)and | b) (A)is true but | ¢) Both (A)and | d) (A) is false
(B) are true, (B) is false (B) are true, but (B) is true
and (B) is the but (B) is not

b

correct the correct

justification justification

of (A) of (A)

63 Match the following:

A Dinesh Goswami Committee | i Centre-State relations A-ii
B Mandal Commission ii Govt. funding of election ]é:iv
C Sarkaria Commission iii Fundamental Duties D-iii
D Swaran Singh Committee iv Reservation

a) A-iii, B-i, C- | b) A-iv, B-i,C- ¢) A-ii, B-iv, C- | d) A-ii, B-iii, C- c

iv, D-ii iii, D-ii i, D-iii iv, D-i
64 According to Dr. B. R. Ambedkar, which article is, ‘The heart and soul of
the Constitution’. Article 32
a)Article 32 | b)Article22 | c)Article 17 [ d) Article 14 a
65 With reference to the Preamble to the Indian Constitution, consider the
following statements:

1. It is based on the ‘Objective Resolution’ drafted and moved by Dr. B.R. | Neither 1
Ambedkar. nor 2

2. The Preamble cannot be amended as it is not a part of the Constitution.

Which of the statement given above is/are correct?

a) 1 only b) 2 only c)Both 1 and 2 | d) Neither 1 nor d

2
66 | Which of the following writs is issued by the court in case of illegal
' Habeas
detention of a person?
Corpus
a) Habeas b) Mandamus ¢) Prohibition d) Quo Warranto a

Corpus




67 Match the following:
A Part-V 1 Elections . .
B Part-XV ii Emergency Provisions ,A,,_lv’ ],3,_1’ C-
C Part-III iii Fundamental Rights 11, D-it
D Part-XVIII iv The Union
a) A-iv, B-iii, C- | b) A-iv, B-i, C- | ¢) A-i, B-ii, C- d)A-iii, B-iv, C- b
ii, D-i iii, D-ii iii, D-iv i, D-ii
68 With respect to Article 371 A of the Constitution of India, the Governor of
which one of the following States has special responsibility with Nagaland
respect to law and order of the State?
a) Arunachal b) Manipur c¢) Nagaland d) Mizoram
Pradesh ¢
69 The committee, on whose recommendations Panchayati Raj Institution Balwant Rai
was introduced in the country was headed by Mehta
a) Shriman b) R.S. Sarkaria | c) Ashok Mehta | d) Balwant Rai
Narayan Mehta d
70 The term “City State” is used for State in
ancient
Greece
a) State in b) Small states ¢) Small ancient | d) Fragmented
ancient of Latin states states of Italy | (a)
Greece
71 State according to Aristotle is
A natural
institution
a) A divine b) A natural ¢) A social d) An artificial )
institution institution contract institution
72 Which of the following statement is true:
A) Locke envisages one contract; social contract .
. S Only D is
B) Locke envisages two contracts; social and government
. true
C) Locke envisages one contract; governmental
D) Locke envisages three contracts; social, economic and political
a) Only Ais true | b) BothB & C c)BothC & D d) Only D is true )
are true are true
73 Given below are two statements labeled as Assertion (A) and Reason (R).
In context of two statements, which one of the following is correct? Both A and
R are correct
A: According to Marx, the contradiction between the forces of production | but R is not
and relations of production leads to a class war. the correct
explanation
R: Class war has been the most prominent and recurring features of all of A

human societies.




a) Ais correct b) A is not c)BothAand R | d)BothAandR
but R is not correct but R are correct are correct
Correct is correct but R is not and R is the
the correct correct ©
explanation explanation
of A of A
74 | Match List I with List IT and select the correct answer from the codes
given below:
List I List IT
A) Machiavelli i) Revolt against reason ABCD
B) Hobbes ii) Moral indifference il iil iv 1
C) Locke iii) Instinct of self-
preservation
D) Rousseau iv) Natural right to property
a)A B CD b)A B C D ¢c)ABCD dABCD @
il il iv i iv il il i i il il iv ivi iiiii
75 The primitive people were encouraged to conclude social contract,
according to Hobbes on account of: Anarchy
a) Desire to b) Preserving c¢) Promoting d) Anarchy
preserve private equality )
individual property
liberty
76 | Which of the following statement is true with regard to Rousseau’s
Contract:
o . . Only B is
A) Each individual surrendered his rights to the king tre
B) Each individual surrendered his power to the community
C) Each individual surrendered his power to the common superior
D) Each individual surrender his rights to the state
a) Only B is true | b) BothB & C c)BothC & D d) Only A is true (@)
are true are true
77 Rawls’ Difference Principle is a principle of Distributive
Justice
a) Economic b) Social Justice | c) Egalitarian d) Distributive
Justice Principles Justice )
78 Which of the following advocated the concept “Tyranny of the Majority”
in democracy? J.S Mill
a) Karl Marx | b) Plato | ¢) .S Mill | d) Hegel (c)
79 Which of the following is not related to Machiavelli’s idea of state? Be
Authoritaria
n
a) Be b) Maintain c¢) Possess d) Be
expansionist religion national army Authoritarian )
within the

state




80

The statement “Life is a perpetual and restless desires of power after
power that ceases only in death,” is related to

Hobbes

a) Machiavelli | b) Hegel | c) Hobbes | d) Marx

(c)

81

Which of the following pairs is incorrectly matched?

John Locke
J.S Mill
Bentham

A) Personal freedom
B) Unlimited liberty
C) Positive liberty

D) Liberty from exploitation Rawls

C&D

a)A&C b)A&B [ c)C&D | d)A&D

()

82

The monistic concept of sovereignty upholds the primacy of

Positive law

c) Morality and
Ethics

a) Positive law b) Customary law d) Community’s

sense of right

(a)

83

Which of the following statement is true?

A) Social justice violates the principles of equality

B) Social justice is derived from moral reasonableness

C) Social justice as a negative of justice

D) Social justice is an instrument of political manipulation

Only B is true

a) Only B is true b) BothB & Care | c)BothC& D are
true true

d) Only Cis true

(a)

84

Female suffrage was first introduced in 1893 in

New Zealand

a) New Zealand | b) Britain | c) India | d) USA

(a)

85

Which of the following rows are correctly associated?

One’s self realization

Freedom as absence of restraints
C) Positive liberty - One’s liberation from others

D) Negative liberty - Freedom as self-mastery

A) Positive liberty -
B) Negative liberty -

A&B

a)A&C |b)A&B [ c)c&D | d)A&D

(b)

86

The United Nation Human Rights Convention was declared in

1948

a) 1948 | b) 1949 | ¢) 1950 | d) 1945

(a)

87

Which of the following belongs to the third generation of Rights?

Right to enjoy
a pollution
free
environment

a) Right to life b) Right to

property

c) Right to rest
and leisure

d) Right to enjoy a
pollution free
environment

(d)

88

Which among the following is not an element of citizenship?

None of
these

a) Citizenship as
legal status

b) Citizen as a
political agent

c) Citizenship as
membership in
a political
community

d) None of these

(d)




&9

Which of the following statement is true in relation to development of

feminism?

A) Radical feminism prevailed during the first waves of feminism.

B) Radical feminism prevailed during the second waves of feminism. Only B is true
C) Radical feminism prevailed during the third waves of feminism.
D) Radical feminism prevailed during the fourth waves of feminism.
a) Only Cis true b) BothB& Care | c)BothC&Dare | d)OnlyBistrue (d)
true true
90 Given below are two statements labeled as Assertion (A) and Reason (R). In Both Aand R
context of two statements, which one of the following is correct? are correct
and Ris the
A: The idea of liberty emerged as voice of the oppressed to bring social change. | correct
explanation
R: Liberty is the force that re-establishes human values. of A
a) Alis correct but | b) Ais not correct | c) Both AandR d) Both AandR
Ris not but R is correct are correct but are correct
Correct R is not the and Ris the (d)
correct correct
explanation of explanation of
A A
91 Which of the following statements (s) is/are TRUE/FALSE? A-T,B-T,
A. Waltz proposes that states are security maximizers. C-F D-T
B. Mearsheimer suggests that states are power maximizers.
C. Manmohan Singh was the prime minister when India started
liberalization.
D. Manmohan Singh was the finance minister when India started
liberalization.
a) A-T,B-F,C- |b)A-T,B-T,C- | ¢c)A-T,B-F,C- | d)A-T,B-F, C- b
T, D-T F, D-T T, D-T T, D-T
92 Match the following A-1i, B-iii,
C-ii, D-iv
A. Classical realism I. Hans Morgenthau
B. Neo Realism ii. Farid Zakaria
C. Neoclassical Realism iii.Kenneth Waltz
D. In between Realism and iv. Woodrow Wilson
Idealism
a) A-i, B-i, C-iii, | b) A-i, B-iii, C- | ¢) A-iii, B-ii, C- | d) A-ii, B-iv, C- b
D-iv ii, D-iv iv, D-i iii, D-i
93 Many Realists considered the end of the Cold War as a signal to anew era | Due to the
of insecurity rather than security because collapse of
the bipolar
structure of
power.
a) The threat to | b) Communism | ¢) Due to the d) None of the
the West would rise collapse of above. ¢




posed by again in a the bipolar
Islam was third phase of structure of
militarily the Cold War. power.
greater than
that of
Communism.
94 Which of the following asserts that the functions of the state on an Karl Marx
economic basis should NOT be limited?
a) Karl Marx b) J.S. Mill ¢) J. Bentham d) Adam Smith. |a
95 Assertion (A): Presently, liberalism advocates for the role of the welfare (A) is true,
state. but (R) is
Reason (R): In the past, liberalism advocated for state-controlled markets. | false
a) A is false, but | b) Ais true, but | c)BothAand R | d) Both Aand R
R is true. R is false. are true, and are true, and
R is the R is not the b
correct correct
explanation explanation
of A. of A.
96 Assertion (A): J. Nehru wanted the Afro-Asian countries to remain neutral | Both (A)
during the Cold War period. and (R) are
Reason (R): He initiated the formation of the Non-Aligned Movement. true, and (R)
is the correct
explanation
of (A)
a) Both (A)and | (b) (A)isfalse, | (c) Both (A)and | (d) (A) is true,
(R) are true, but (R) is (R) are true, but (R) is
and (R) is not true. and (R) is the false.
the correct correct c
explanation explanation
of (A). of (A).
97 Which of the following doctrines was designed to stop the spread of Truman
communism? Doctrine.
(a) Communist (b) Monroe (c) Communal | (d) Truman d
International Doctrine. Award. Doctrine. ’
98 Name the country that did not sign the Charter at San Francisco but is still | Poland
considered an original member of the UN.
(a) Poland | (b) Hungary | (c) China | (d) Egypt a
99 The ‘ASEAN Way’ refers to: All of them
(a) Non- (b) Quiet (c) Decision- (d) All of them
interference diplomacy making d
through
consensus
100 | The European Economic Community (EEC) was founded in 1957 based

on which treaty?

Rome Treaty




(a) Munich
Treaty

(b) Rome Treaty

¢) London
Treaty

d) None of these




